A Fl 3]3ol= 4000 9, &3] 7000 Yol AFE o] et T
2E gJxleol= v 1000 94, £3]= 500 ¥4 dlaettd s)xle]
o] dfgfo] £3]9] o g et HotAl= A2 2 7l SR EH AT

® 44g @ 544 ® 614
@7 Mg ® 844

B ~
NE 5 x7/Ndolzt & uf

4000 + 1000x > 7000 + 500x

x> 6

w2bA] 3]710]9] of| FHo] F3]9] o FHE T WolR]= A2 7
N FFHo|r




5000 ¥o] o At w5000 44 A
80000 YL H7|= AL 2 Y THE

2
of>
i)
o
lo
of
ol
=2
rr
—

B e

N & x7igolet sha

45000 + 5000x > 80000

x>7

8 7l =7H oao] 80000 9= H=rh




A7y o] Al ®e] dol7t ZHzE xem, (x+ 1)em, (x+3)em € T, x 9

2ol We1e Foteler
>

> & x>2

B \
714 71 W] Zol7} hulx) % ] Zole] Fhict oz
x+3<x+(x+1)
x+3<2x+1
x> 20|th




SE . x>4

719 Wo| dolo] 27
i} Fotof Gt
X+x+3>x+7

T x>4

Mo




=

WA FolA u1R57h 2 A9 QAR BT M2

oo

@ x+y=0
O x(x+1)+y=x*+y
© x=y

® x(2+3y)-3xy=0

@ x(x+1)+yy+1)=0

va.0 @Doe 00e ©0e 660

Ox+y-y2=0
®2x=0
@x2+x+y’+y=0




(M) 3+5y=1
(L) x+2y=0
(C)x’-y+3=0
(2)2x-y+5=
(D)x2—§c+1=
(H)y=~

(A) x+2y=1
(0)x+y=3+x
() x+xy=3
() x2=2+y

@ 17 @)3 7N ® 47 @ 6 7 ® 770

AR x, y A 2 /M2 o] Fo| AT 2 BE F2 2O
2 olgato] JeEstH ax+by+c=0(a#0, b#0, a, b, ci=
&) FHE A=t kA (L), (2),(A) ol




7. Qg YT saag o700, 0 210
5x—6y=a-1---©O

3t & o, a o ghe T-stolet.

>
> e -8

B \
@Al x =3y & HdstH
Jy—4dy=1y=-1
OAll (-3,-1) = US4,
-15+6=a-1

Soa= -8




8.

A

—

H

0

=

1:—]6

@ -2

a1

_,4
o

his

4x—y:10k
6x—y=-10
o 1 ]

of - olint,

@ -1

ol 3g Tt Y x o] @2 y o gtel

ojm, k o gh-2?

®)0 @ 1




